MULTIPLY 2-DIGITS -
BY 2-DIGITS
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1)3 X 8= 30X 8=

2)6 X7 = 6 X = 420

3)22 X 13 =

4) 22 X 14 =




1)3 X 8= 24 30 X 8 = 240
2)6 X7 = 42 6 X|70|=420
3)22 X 13 = 286
4) 22 X 14 = 308
X 20 2
10 200 20
3 60 6







23 X 31
X 20 3
30 600 90
1 20 3

600+90+20+7 =713
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23 X 31

H T O
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30 600 «— —960

1 20 3

600+90+20+7 =713
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23 X 31
X 20 3
30 600 90
1 20 3

600+90+20+7 =713
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23 x 31 T To
2 3
X 311

2 3| (23X 1)

+16 9 0] (23 x30)
7 13

23X 31=(23x 1) + (23 % 30)
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Have a think m

(41 X 6)

41 X 26
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N 4

(41 X 6)
(41 x 20)

41 X 26 = 1,066
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[ 32 X 46 = 320 .{.‘.
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32 X46=1,472

(32X 6)
(32 x 4D)
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Have a go at the questions
1 -4 on the worksheet




Tommy wants to find the area of the blue part of the

rectangle.

35 cm

12 cm

12 cm

7cm

16 cm

7 cm

Have a think m

White

Maths



Tommy wants to find the area of the blue part of the

rectangle.

o 35 X 16
H T O
12 cm 12 cm 16 cm 3 5
7cm 7cm X 1 6
2.1 0

X
+13 5 O
56 0

(35 X 6)
(35 X 10)
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Tommy wants to find the area of the blue part of the

rectangle.
35cm
12 cm 12 cm 16 cm
7cm 7cm

560 — 168 = 392 cm”
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Have a go at the questions
5 and 6 the worksheet




